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<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="" data-src="https://i
g.hacpai.com/bing/20190624.jpg?imageView2/1/w/768/h/432/interlace/1/9/100"></p>
<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>
<!-- BEIRPCIGFHER-FER -->
<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>
<script>

(adsbygoogle = window.adsbygoogle || [1).push({});
</script>
<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="" data-src="https://i
g.hacpai.com/bing/20180811.jpg?imageView2/1/w/768/h/432/interlace/1/9/100"></p>
<h2 id="BIS">gis</h2>
<p>FHMN=HABRE js B—PERENEE, WERE— P ERETHRL. </p>
<p>EREATERINTE: </p>
<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="" data-src="https://c
n.nlark.com/yuque/0/2019/png/238895/1562726625385-7ed4dbab-1ec6-4636-b67c-d3f64b
98d1f.png?x-oss-process=image/resize,w 932"></p>
<p>ERAZIVRIBER, $— FNESZINSMAOH-ALEEHTIML, AT3RE? 5=, I
X, BENIAFMECEEEER T, B canvas RIRE. </p>
<p>RENESMERAIEWERTLAAR Web Audio APl , IXEEEATATLAZ MDN & W3C EEEHEXRY

M. </p>

<h2 id="audio-API">audio APl</h2>

<p>FAJEBFIETE Web FIEMESNA <code>audio</code> X MREEKE(E, Web Audio API
XF <code>audio</code> HR&INRE ERI*NFE, BRILA: </p>

<ol>

<li>—¥ARIIRHS N ES </li>

<li>{BESWARIRIIHSR, HITEZRE</i>

<li>EEMAHEIZME7T, til canvas, MMSCIIEJHRLE </li>
</ol>
<p>audio node EAOMIHO, SN TUREMELER—HFNEE, A—THEZ1MFREAR, &
—Tﬁ%gﬁ\ﬂ*fi*ﬁ,ﬁ, RLHRHEBETR. Web audio F—/MEEMRIENT: </p>
<0l>

<li>glE AudioContext Xgg</li>

<li>7E£ AudioContext JSERIREER, a0

<audio preload="none" >

s

</audio> </li>

<li>glz# affcet node( R R) </li>

<li>iEFEMREmHT R </li>

<li>EMETHRTRALIEE, REBAZIT—1MHR</li>

</ol>

<pre> <code class="language-js highlight-chroma"> <span class="highlight-c1">// 3XEXAudi
ContextXdgR

</span><span class="highlight-c1"></span> <span class="highlight-nb">window</span> <
pan class="highlight-p">.</span> <span class="highlight-nx">AudioContext</span> <span c
ass="highlight-o">=</span> <span class="highlight-nb">window</span><span class="high
ight-p">.</span> <span class="highlight-nx">AudioContext</span> <span class="highlight
0">||</span> <span class="highlight-nb">window</span> <span class="highlight-p">.</sp
n><span class="highlight-nx">webkitAudioContext</span> <span class="highlight-o">||</
pan> <span class="highlight-nb">window</span> <span class="highlight-p">.</span><spa
class="highlight-nx">mozAudioContext</span> <span class="highlight-p">;</span>

<span class="highlight-c1">// fllEAudioContextxJS5 3L
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</span><span class="highlight-c1"> </span> <span class="highlight-kd">var</span> <span
class="highlight-nx">actx</span> <span class="highlight-o">=</span> <span class="highli
ht-k">new</span> <span class="highlight-nx">AudioContext</span> <span class="highligh
-p">();</span>
<span class="highlight-c1">// tl#£AuidoSource, Itt4bAJaudiosA&It;audio&gtires
</span> <span class="highlight-c1"> </span> <span class="highlight-kd">var</span> <span
class="highlight-nx">audioSrc</span> <span class="highlight-0">=</span> <span class="h
ghlight-nx">actx</span> <span class="highlight-p">.</span> <span class="highlight-nx">cr
ateMediaElementSource</span> <span class="highlight-p">(</span><span class="highlight
nx">audios</span> <span class="highlight-p">);</span>
<span class="highlight-kd">var</span> <span class="highlight-nx">analyser</span> <span
class="highlight-0">=</span> <span class="highlight-nx">actx</span> <span class="highli
ht-p">.</span><span class="highlight-nx">createAnalyser</span><span class="highlight-p
>();</span>
<span class="highlight-c1">// I NAUIZEEE
</span><span class="highlight-c1"> </span> <span class="highlight-nx">audioSrc</span> <
pan class="highlight-p">.</span> <span class="highlight-nx">connect</span> <span class=
highlight-p">(</span> <span class="highlight-nx">analyser</span> <span class="highlight-
">);</span>
<span class="highlight-c1">// &#Ha%EE
</span><span class="highlight-c1"> </span> <span class="highlight-nx">analyser</span> <
pan class="highlight-p">.</span> <span class="highlight-nx">connect</span> <span class=
highlight-p">(</span> <span class="highlight-nx">actx</span><span class="highlight-p">.
/span><span class="highlight-nx">destination</span> <span class="highlight-p">);</span>
<span class="highlight-c1">// &G FHHE(BRENE SEIERFITIRIL
</span><span class="highlight-c1"> </span> <span class="highlight-kd">var</span> <span
class="highlight-nx">voiceHigh</span> <span class="highlight-o">=</span> <span class=
highlight-k">new</span> <span class="highlight-nx">Uint8Array </span> <span class="highl
ght-p">(</span><span class="highlight-nx">analyser</span><span class="highlight-p">.</
pan><span class="highlight-nx">frequencyBinCount</span> <span class="highlight-p">); </
pan>
<span class="highlight-nx">analyser</span> <span class="highlight-p">.</span> <span clas
="highlight-nx">getByteFrequencyData</span> <span class="highlight-p">(</span><span ¢
ass="highlight-nx">voiceHigh</span><span class="highlight-p">);</span>
</code></pre>
<h2 id="canvas">canvas</h2>
<p>Fd canvas M EEEIEHITIIMER. </p>
<pre><code class="language-js highlight-chroma"> <span class="highlight-kd">function</s
an> <span class="highlight-nx">draw</span> <span class="highlight-p">()</span> <span ¢
ass="highlight-p">{</span>

<span class="highlight-kd">var</span> <span class="highlight-nx">step</span><span c
ass="highlight-o">=</span> <span class="highlight-nb">Math </span> <span class="highlig
t-p">.</span><span class="highlight-nx">round </span><span class="highlight-p">(</spa
> <span class="highlight-nx">voiceHigh</span> <span class="highlight-p">.</span><span c
ass="highlight-nx">length</span> <span class="highlight-o0">/</span> <span class="highli
ht-nx">num</span> <span class="highlight-p">);</span>

<span class="highlight-nx">ctx</span> <span class="highlight-p">.</span><span class=
highlight-nx">clearRect</span><span class="highlight-p">(</span><span class="highlight
mi">0</span> <span class="highlight-p">,</span> <span class="highlight-mi">0</span> <
pan class="highlight-p">,</span> <span class="highlight-nx">canvas</span> <span class="
ighlight-p">.</span> <span class="highlight-nx">width</span> <span class="highlight-p">,
/span> <span class="highlight-nx">canvas</span> <span class="highlight-p">.</span><sp
n class="highlight-nx">height</span><span class="highlight-p">);</span>

<span class="highlight-nx">ctx</span> <span class="highlight-p">.</span> <span class=
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highlight-nx">beginPath </span> <span class="highlight-p">(); </span>

<span class="highlight-k">for</span> <span class="highlight-p">(</span><span class="h
ghlight-kd">var</span> <span class="highlight-nx">i</span><span class="highlight-o">=
/span><span class="highlight-mi">0</span> <span class="highlight-p">;</span> <span cla
s="highlight-nx">i</span><span class="highlight-o">&lt; </span> <span class="highlight-nx
>num</span><span class="highlight-p">;</span> <span class="highlight-nx">i</span><s
an class="highlight-o">++ </span> <span class="highlight-p">)</span> <span class="highli
ht-p">{</span>

<span class="highlight-kd">var</span> <span class="highlight-nx">value</span> <span
class="highlight-o0">=</span> <span class="highlight-nx">voiceHigh</span><span class="
ighlight-p">[</span> <span class="highlight-nx">step</span><span class="highlight-o">*<
span> <span class="highlight-nx">i</span><span class="highlight-p">];</span>

<span class="highlight-p">}</span>

</code></pre>

<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>

<l-- BEIRPCIEFAER-FEs -->

<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>
<script>

(adsbygoogle = window.adsbygoogle || []).push({});
</script>
<h2 id="#EFR">BEFK</h2>
<p>HEFERWRERFMI T, BIIB—ER diviEsR, 30— div ErLeiftE, SER
TR, RIESUENAIZRIEERRLUCEIE, AERER div IBE, HHREZIERA, </p>
<pre><code class="language-js highlight-chroma"> <span class="highlight-kd">var</span>
<span class="highlight-nx">bglen</span> <span class="highlight-0">=</span> <span clas
="highlight-nb">document</span><span class="highlight-p">.</span> <span class="highli
ht-nx">getElementByld </span> <span class="highlight-p">(</span><span class="highlight-
1">'bgline'</span> <span class="highlight-p">).</span> <span class="highlight-nx">offsetW
dth</span><span class="highlight-p">;</span>
<span class="highlight-kd">var</span> <span class="highlight-nx">fillbar</span> <span cl
ss="highlight-o0">=</span> <span class="highlight-nb">document</span><span class="hi
hlight-p">.</span><span class="highlight-nx">getElementByld </span> <span class="highli
ht-p">(</span><span class="highlight-s1">fillbar'</span> <span class="highlight-p">);</s
an>
<span class="highlight-nx">fillbar</span> <span class="highlight-p">.</span> <span class=
highlight-nx">style</span> <span class="highlight-p">.</span><span class="highlight-nx"
width</span> <span class="highlight-o">=</span> <span class="highlight-nb" >parseFloat
/span><span class="highlight-p">(</span> <span class="highlight-nx">cur</span> <span c
ass="highlight-0">/</span> <span class="highlight-nx">duration</span><span class="high
ight-p">)</span> <span class="highlight-o">*</span> <span class="highlight-nx">bglen</
pan> <span class="highlight-o">+</span> <span class="highlight-s1">'px'</span><span c
ass="highlight-p">;</span>
</code></pre>
<h2 id="1R&NIA" > RefFkiaE < /h2>
<p>HFX—IR, BELFER, WITRETINE? EEFIENER? WEF =S e aaiE?
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BEXNE#E, FRMEEAEET. </p>
<h2 id="fEHraxia" > AEHTaRIE < /h2 >
<p>X—RARRXBOABTEARERN, FE-LHRNEE, XERTHEAE. </p>
<p>REITRIAY Irc SRRAEXEFRY: </p>
<pre><code class="highlight-chroma" > [ti: A EAEFRFEANIHEIREZF] [ar:AB&] [by:] [00:21.57
ZZAIGENEEIIT [00:25.39]FAVMETFERME [00:29.96] AHAICEFEEES [00:34.11
FERIFBINISE 715K [01:48.86][00:39.01]S#IRIZEZDWEN [01:52.69][00:42.79]Fx T 151K
T4 [01:57.27][00:47 A0MREEAEFMERBAIRIE [02:01.67][00:51.80] AIRAINE £ Z1BEK
02:59.75][02:05.19][00:55. 27 R EAEFRFEAIRF R ZH [03:04.15][02:09.69][00:59.96]FFIFRE
BELS T HRAR [03:09.30][02:14.78][01:04.97 AR ZAWASFERERIIEEERL [03:13.94][02:19.40][01:09
65] BB HBREIEITEE [03:17.17][02:22.65][01:12.82] FEFER S AIRHME R ZE [03:21.62][02:27.1
1[01:17 32]FRAHMFREAIALEMED [03:25.65][02:31.13][01:21.331FAE T A S ABEERAVZIE [03:30.
0][02:35.44][01:25.69]i.LEAERXEHIE THYE!
</code></pre>
<p>fEHTAMEERIXAFRY: </p>
<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="image.png" data-src=
https://img.hacpai.com/file/2019/07/image-7746b71e.png?imageView2/2/interlace/1/format/
pg"></p>
<pre><code class="highlight-chroma">function getnext(y, Irc) {
varrs ="
vari=y + 1;
if(Irc[i]) {
t = Irc[il.split('T");
if(t[1] == ") {
rs = getnext(i, Irc);
Jelse {
rs = t[1]
}
}
returnrs;
}
</code></pre>
<h2 id="8R=RaN" > HiAiRA </h2>
<p>HiFRNRERIN—MITE, ILEIFNEFR top BEARYTFL, Fiase—BELE, BT
BB AYRSEFIERIAIRYATRIRG N, FIRT= BB EIRIAAVERIE, LEXIMAT dom iR, </p>
<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>
<l-- BEIRPCIaFAER-FEs -->
<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>
<script>
(adsbygoogle = window.adsbygoogle || [1).push({});
</script>
<pre><code class="language-js highlight-chroma"> <span class="highlight-nx">cur</span>
<span class="highlight-0">=</span> <span class="highlight-nb">parselnt</span> <span cl
ss="highlight-p">(</span> <span class="highlight-nx">audio</span> <span class="highlight
p">.</span><span class="highlight-nx">currentTime</span> <span class="highlight-p">);<
span>
<span class="highlight-nx">min</span> <span class="highlight-o">=</span> <span class=
highlight-nb">parselnt</span><span class="highlight-p">(</span> <span class="highlight-
x">cur</span> <span class="highlight-o">/</span> <span class="highlight-mi">60</span
<span class="highlight-p">);</span>
<span class="highlight-nx">sec</span> <span class="highlight-o0">=</span> <span class=
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highlight-nb" >parselnt</span> <span class="highlight-p">(</span><span class="highlight-
x">cur</span> <span class="highlight-0">%</span> <span class="highlight-mi">60</spa
><span class="highlight-p">);</span>
<span class="highlight-nx">sec</span> <span class="highlight-o">=</span> <span class=
highlight-nx">sec</span> <span class="highlight-o">&lt;</span> <span class="highlight-m
">10</span> <span class="highlight-o">?</span> <span class="highlight-s1">'0'</span>
span class="highlight-o">+</span> <span class="highlight-nx">sec</span> <span class="h
ghlight-0">:</span> <span class="highlight-nx">sec</span><span class="highlight-p">;</
pan>
<span class="highlight-nx">curTime</span> <span class="highlight-p">.</span> <span clas
="highlight-nx">innerHTML</span> <span class="highlight-o">=</span> <span class="hig
light-nx">min</span> <span class="highlight-o">+</span> <span class="highlight-s1">"'<
span> <span class="highlight-o">+</span> <span class="highlight-nx">sec</span><span c
ass="highlight-p">;</span>
<span class="highlight-nx">fillbar</span> <span class="highlight-p">.</span> <span class=
highlight-nx">style</span> <span class="highlight-p">.</span><span class="highlight-nx"
width</span> <span class="highlight-o">=</span> <span class="highlight-nb" >parseFloat
/span><span class="highlight-p">(</span> <span class="highlight-nx">cur</span> <span c
ass="highlight-0">/</span> <span class="highlight-nx">duration</span><span class="high
ight-p">)</span> <span class="highlight-o">*</span> <span class="highlight-nx">bglen</
pan> <span class="highlight-o">+</span> <span class="highlight-s1">'px'</span><span c
ass="highlight-p">;</span>
<span class="highlight-k">if</span> <span class="highlight-p">(</span><span class="highl
ght-nx">IrcTimeArr</span><span class="highlight-p">.</span> <span class="highlight-nx" >
ndexOf</span> <span class="highlight-p">(</span><span class="highlight-nx">cur</span
<span class="highlight-p">)</span> <span class="highlight-o">&gt;</span> <span class="
ighlight-0">-</span> <span class="highlight-mi">1</span><span class="highlight-p">)</s
an> <span class="highlight-p">{</span>

<span class="highlight-nb">document</span> <span class="highlight-p">.</span><span
class="highlight-nx">querySelectorAll</span> <span class="highlight-p">(</span> <span cla
s="highlight-s1">"#lrc li'</span> <span class="highlight-p">).</span><span class="highlight
nx">forEach</span> <span class="highlight-p">(</span> <span class="highlight-kd" >functi
n</span><span class="highlight-p">(</span><span class="highlight-nx">e</span><span ¢
ass="highlight-p">)</span> <span class="highlight-p">{</span>

<span class="highlight-nx">e</span> <span class="highlight-p">.</span><span class=

highlight-nx">className</span> <span class="highlight-o0">=</span> <span class="highli
ht-s1">"</span><span class="highlight-p">;</span>

<span class="highlight-p">})</span>

<span class="highlight-nb">document</span> <span class="highlight-p">.</span><span
class="highlight-nx">querySelector</span> <span class="highlight-p">(</span><span class
"highlight-s1">"#Irc liftime="'</span> <span class="highlight-o">+ </span> <span class="hi
hlight-nx">cur</span> <span class="highlight-o"> + </span><span class="highlight-s1">""]'
/span> <span class="highlight-p">).</span> <span class="highlight-nx">className</span>
<span class="highlight-o">=</span> <span class="highlight-s1">"active'</span><span clas
="highlight-p">;</span>

<span class="highlight-nx">IrcEl</span> <span class="highlight-p">.</span><span class
"highlight-nx">style</span> <span class="highlight-p">.</span> <span class="highlight-nx"
top</span> <span class="highlight-o">=</span> <span class="highlight-nx">IrcOffsetTop
/span> <span class="highlight-0">-</span> <span class="highlight-nx">lrcTimeArr</span
<span class="highlight-p">.</span> <span class="highlight-nx">indexOf</span> <span clas
="highlight-p">(</span><span class="highlight-nx">cur</span><span class="highlight-p">
</span> <span class="highlight-o">*</span> <span class="highlight-mi">16</span> <spa
class="highlight-o0">+</span> <span class="highlight-s1">'px'</span><span class="highli
ht-p">;</span>
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<span class="highlight-p">}</span>

</code></pre>

<h2 id="BEfE&E">5E&a</h2>

<p>LA EREEREMESEIAR AT E—E&sLie, </p>
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